Sanity-Check for TOT_SNOW ts.nc
Var: TOT_SNOW

TOT_SNOW min

400

350

300 A

250 A

200 A

150 A

100 A

50 A1

min: 0.00e+00

“Imax: 0.00e+00

mean: 0.00e+00

{std: 0.00e+00

0_2: 0.00e+00
q_50: 0.00e+00
g_98: 0.00e+00

400

350

300

250

200

150

100

50

0 100 200 300 400

0 100 200 300 400

0.100
0.075
- 0.050
- 0.025
- 0.000

- —0.025

- —0.050
-0.075

—0.100

0.25

- 0.20

- 0.15

- 0.10

0.05

0.00

# of occurrence

TOT_SNOW max

QO - sl

400 - 8
350 45t 7
300 -6
250 =
200 -4
150 3
100 2
1
50
0
0
0 100 200 300 400
TOT_SNOW mean - distribution
10° E
104 E
103 4
102
0.00 0.05 0.10 0.15 0.20 0.25




